N [MPa] N [MPa] N [MPa]

N |[MPa]

— SUHMO
SHAKTI

3 | | | |
6 _
4 _
2 _
0 | | | |
0 20 40 60 30 100
3 | | | |
6 _
4 _
2 _
0 | | | |
0 20 40 60 30 100

Distance |[km|

L

B2

B3

B4

B5

_1]

3
S

m

|

Discharge
N B O OO0
coodDD

|

3 -1
S

Discharge [m

100

100

H—~ O OO0
o O O

DO
o O

| | |
PN A T dis. SUHMO |

N - -- dis. SHAKTT |-

rech. SUHMO |-
rech. SHAKTI

— jnef. dis. SUHMO
inef. dis. SHAKTI| —
— eoff. dis. SUHMO | -

eff. dis. SHAK'TI
2:0 4,0 6IO 8I() 1—00
o 4:0 6I() 8I() ~ 100
- 2:0 4 | 6I() - ‘8.() = 100
;0 | 10 6ON F \80M 100

Distance [km)]



